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REEBE|(FHEE<15)
A1 JEG Mg
MR
= 5
(i 57 10 2 8 5 0 1 1 0 5 7 17
T AT IR 52 7 2 6 4 1 - 3 2 3 8 15
IS /N @7 7 4 3 7 1 1 2
EXBH |(FHEE=85)
£ JES I
woAR
B 157 7 9 9 10 17 23 26 18 18 14 4 2
BT R 130 6 6 9 8 12 23 20 14 13 15 3 1
NIES /N (122) 8 8 10 9 13 22 19 17 16
ERRB % |(BF/KE=0.5)
A AR IR 108  10) 10 12 8 11 11 9 10 5 15 5 2
I AV 102 9) 10 10 8 6 12 9 12 9 12 4 1
= 5 105 8 9 9 7 12 11 10 12 9 14 3 1
(i L 106 8 8 10 6 12 11 10 14 10 13 4 0
T AT I 108 10 8 12 8 12 10 11 12 13 5 1
TS /N 103 4 9 9 8 13 10 13 10 14 5 2
BEEEHK
£ JEG IR - - - - - - - - - - - - -
W 6 2 2 1 - - - - - - - - 1
= & 2 1 1 - - - - - - - - - -
(- T 2 - 1 - - - - - - - - - 1
i I 4 2 - - - - - - - - - - 2
ST /N 10 2 2 2 - - - - - - - - 4
ZEAH#
A AR IR 18 - - 1 - 2 4 9 - - 2 - -
I AV 5 - - 1 - - 2 1 - - 1 - -
= 5 6 1 1 1 - - - - 1 - 1 1 -
[ T 1 - - - - - - 1 - - - - -
T AT IR 22 - - 1 2 8 2 2 1 - -
FUES 2 - - — - 1 - — - - - -
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(DRBE BRI (>>5%)

SRR 1 TAE
REEE iﬂ’a 1A [ 2A | 3A | 48 | BA | 6 | 7TH | 84 [ 98 [10A 114 | 12]
E=E:
A1 JEG Mg
wmoAR
= 5
(i 11 - - 3 - 1 - 4 1 - -
T AT IR 18 - 1 3 - 1 1 4 2 3 1
SIES /N (11) - - 1 - 2 2 5 -
R A B (R AREZE10m/sLL L)
£ JEG IR 148  16) 15 19 15 14 8 6 5 8 11 8 23
M AR 105 16 11 18 14 4 3 5 1 3 8 4 18
= B 11 1 1 1 1 - - - 2 - - - 2
[ T 2 - - - - - - 1 - - - 1
BT R 126 20 22 23 8 7 2 6 3 2 4 8 21
ST /N 23 4 4 7 3 1 - 1 1 0) - 1 1
HhE RS (B R, BEAL:[E)
A1 B Mg 2 - - - - - - 1 1 - - - -
wmoAR 44 3 6 3 5 1 3 8 2 2 4 3 4
= 5 10 - 1 - 2 1 1 3 2 - - - -
(i L 13 1 2 1 2 1 1 1 1 - 2 1 -
T AT I 1 - - - - - - - 1 - - - -
TS /N 1 - - - - - - 1 - - - 1
EHRIE (R, B hPa)
Vel JE'E ﬂl’ﬁ? 1,006.2 1005.8) 1,008.1 1007.6) 1,008.0 1,004.2 1,001.6 1,001.1 1,003.6 1,009.0 1,009.5 1,009.6 1,006.3
ﬁ‘ﬁ] fJQ 1,004.5 1,003.9) 1,006.8 1,005.3 1,006.1 1,002.8 1,000.0 999.3 1,001.9 1,007.8 1,008.6 1,008.2 1,003.7
= .% 1,010.2 1,010.0 1,012.5 1,011.1 1,011.9 1,008.2 1,005.4 1,004.7 1,007.3 1,013.1 1,013.9 1,013.9 1,009.9
ﬁ% ﬁ 1,010.7 1,010.6 1,012.9 1,011.8 1,012.4 1,008.7 1,006.0 1,005.2 1,007.9 1,013.6 1,014.3 1,014.3 1,010.9
fﬁ] ﬁﬁ l“jﬁ\? 1,007.4 1,007.7 1,009.7 1,008.9 1,009.0 1,005.1 1,002.4 1,001.8 1,004.3 1,009.8 1,010.5 1,010.8 1,008.3
Yli\ 1‘2} 1,009.3 1,010.1 1,012.2 1,011.2 1,010.8 1,006.8 1,003.9 1,003.4 1,005.9 1011.2) 1,012.4 1,013.1 1,011.0
EHTR|CC)
£ JEG 18§ 16.3 81 7.8 10.5) 150 175 21.2 239 26.1 23.8 19.7 149 7.6
wmoAR 6.0 7.00 6.5 9.5 149 17.3 22.0 247 26.6 238 19.0 13.5 6.8
= 5B 158 58 6.2 95 148 18.0 22.6 256 27.3 243 188 11.8 5.3
[ T 16,5 6.6 7.2 10.0 155 184 229 257 27.1 247 19.7 13.3 6.3
AT IR 6.1 6.7 7.0 9.5 151 179 21.8 24.5 26.5 24.4 20.0 14.0 556
FUES 6.1 6.0 6.4 9.1 153 184 228 257 27.3 24.8) 196 13.1 5.1

) ) 20% LN FO RPN DT eamd, o, FiHoob () NESIBRILZ97 A Z2EF L Ta,

A ERIRE, MERL = BRI, B AT AR

TR FHT AR A

NI==—J=:AN

=N = CN
E& E.RB.

TR ORI BIR 2 T LT,



(DRBE BRI (>>5%)

SRR TAE
JEEE iﬂ’a 1A 20 [ 3A |43 | 5 |6 | 7H [ 8A | 98 |10A|11H | 124

X <um
DI |(°C)

ARG 1% 19.2 11.2) 109 13.7) 18.3 20.7 23.9 26.4 28.9 26.4 222 17.5 10.2
i I A 20.0 11.0) 10.3 14.5 199 21.9 26.1 28.5 31.0 27.4 223 17.0 10.6
= B 209 11.3 11.2 14.7 20.3 234 27.0 29.6 31.9 288 23.7 18.1 11.2
F | 21.0 11.6 11.9 15.2 20.7 229 26.7 29.4 31.0 284 240 18.7 11.5
A AT IRF 19.6 10.6 11.0 13.6 18.6 21.4 24.8 27.2 295 274 23.0 18.0 9.5
T N 20.4 10.2 10.8 13.6 20.0 23.0 26.8 29.4 31.4 29.00 23.6 179 9.1
=RIEXR
DFEH [(°C)

A | 140 55 49 7.1 12.3 148 195 22.1 242 21.8 175 12,5 5.2
Mmoo 13.0 37 33 57 108 14.0 19.4 223 240 21.2 165 106 3.9
= Bl 112 05 1.3 41 9.1 12.8 193 22,5 239 205 14.7 6.4 -0.6
[ 123 1.8 25 47 10.3 139 198 229 243 216 16.1 81 1.2
#oahw | 13.0 34 29 53 11.2 146 196 226 245 223 17.3 104 2.1
O 127 27 26 4.8 107 14.2 19.8 232 245 219 164 9.1 2.0

TR |(%)

£ JER IR 71 59) 60  62) 70 72 85 87 86 79 74 61 55
M AR 67  58) 60 59 64 67 79 79 76 75 73 63 50
= B 67 63 62 60 65 64 75 75 73 71 73 69 56
i i 67 56 57 57 66 68 78 81 80 76 75 64 47
BT MRy 71 58 58 61 72 74 86 87 85 80 75 61 55
SIS /N 66 56 55 57 61 65 77 78 76 74) 73 58 56

YRR |(m/s)

£ JER IR 48 5.5) 58 58 48 44 4.1 40 34 44 48 4.0 6.5
AR 3.2 42 35 41 36 26 24 22 23 26 3.1 22 52
= B 24 26 25 3.0 28 26 24 22 23 23 20 16 26
TR 22 23 24 27 24 23 20 20 20 22 21 1.7 28
T AT IRF 51 6.7 69 6.4 49 42 4.0 44 36 3.9 45 48 7.0
I (/N 3.4 44 48 41 33 3.1 26 29 26 2.7 27 31 45

FHEE|(1053k)

£ JER IR
I AV
R 65 44 58 56 6.1 7.7 90 90 82 79 65 50 27
A0 T I 6.1 44 55 54 54 72 86 86 7.0 73 69 40 24
[ /N - 49 59 59 52 71 85 83 1.8 14
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fEK= [(mm)

A1 JEF IRF|1,715.5  64.5) 65.5 122.0) 140.5 104.5 279.0 189.5 250.5 78.0 173.0 243.5 5.0
M f%[1,583.5 53.0) 67.5 101.5 133.0 88.0 224.5 319.0 239.0 124.5 190.0 40.0 3.5
= & |1,381.5 42.0 76.5 133.5 103.5 100.0 188.5 192.5 282.0 58.0 179.0 24.0 2.0
B¢ B [1,707.5  36.5 81.5 212.0 106.0 115.5 146.0 364.5 273.5 125.0 206.0 41.0 0.0
f#0 A7W (1,777.0 0 40.5  62.5 211.5 125.0 193.5 242.5 296.0 236.0 131.0 144.0 93.0 1.5
o Ry [1,212.5 325 46.0 171.5 88.0 120.0 161.5 260.0 63.5 56.5 177.5 34.5 1.0

H FE B R | (BF 8D

A1 JBE IR 12,179.7 189.7) 139.3 202.3) 220.9 234.4 122.0 117.2 187.8 205.7) 151.3 192.6) 216.5
M % [1,879.7 150.8) 102.3 180.1 217.8 200.8 120.2 119.6 178.6 160.3 121.8 152.9 174.5
= & [2,073.,5 197.5 131.4 202.5 216.8) 197.3 123.7 114.7 162.7 170.7 141.0 194.9 220.3
B B [2,245.9 221.6 166.1 221.0 221.7 224.5 122.1 128.9 176.5 162.0 145.9 210.3 245.3
1 HT R [2,373.2 211.6 181.0 220.6 238.4 231.3 139.6 145.9 199.6 191.5 150.4 222.6 240.7
. FA]2,373.4  208.4 184.0 206.8 239.4 244.9 149.6 156.6 196.3 176.7) 149.5 228.3 232.9
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